
SOFA L

1/9

Thank you for shopping with us!
We appreciate your purchase and are ready to be at your service!
If you find parts missing, broken, or hard to put together or when you are not
satisfied or have any valuable suggestions, please do not hesitate to contact us first!
We will definitely give you a satisfactory solution or answer then!



1  x 4

M6x20 mm

2  x 4 3  x 21

M6x40 mm

4  x 4

5  x 33 6  x 2

Ø6x14x1 mm

M6x30 mm M6x55 mm

2/9

4 mm



Components:

A B C

x2

D

E H I J

K L M Nx3 x2

P S T

3/9



1

80%

4 5

4

5

A

B

5

3

5

3

3

5

5

5

3

3

B

C

A

3
5

3

5

A

B

C

D

2

80%

3

80%

4/9



4

5

3
5

5

5/9

80%

100%



6

4

4

5

5

HE

3

3

3

3

55

5

5
E

H

I

5

5

3

3

J

E

H

I

7

8

6/9

80%

80%

80%



9

5

5

1

1

1

1

5

5
I

H

E

J

K

10

7/9

80%

100%



11

12

13

5

5

3

3

L
L

M
M

M

8/9

100%

100%



5

5

3

5
5

3

3
3

N

N

P

55
2

2

2

2

S

N N

P

T

14

15

16

9/9

100%

80%

80%


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9



